Answer Key: Two Digit by One Digit Worksheet One:
	784



	
	372


	657


	0


	168



	315


	0


	456


	192


	0



	136


	546


	36


	324


	264



	48


	196


	72


	480


	54



	252


	837


	76


	284


	216



	355


	56


	600


	200


	168



	352


	100


	284


	189


	58




Answer Key: Two Digit by One Digit Worksheet Two:

	246



	
	352


	126


	234


	0



	95


	252


	172


	336


	25



	399


	111


	240


	48


	190



	558


	402


	120


	158


	600



	747


	128


	48


	42


	310



	366


	114


	329


	100


	66



	234


	58


	164


	30


	384




Answer Key: Three Digit by One Digit Multiplication One:

	3115



	
	1608


	780


	2835


	1128



	5670


	3140


	3156


	1572


	1412



	3184


	6713


	8460


	6930


	3868



	3448


	2238


	1136


	2821


	2520



	5894


	3960


	3795


	5464


	2382



	1960


	2799


	1692


	6120


	2712



	2556


	717


	5934


	4018


	1168




Answer Key: Three Digit by One Digit Multiplication Two:

	1476



	
	4752


	858


	999


	2796



	3624


	1524


	4104


	917


	3980



	2421


	2752


	6202


	920


	3260



	3905


	6881


	1165


	1998


	3546



	2695


	3984


	4260


	2872


	6601



	2922


	6223


	3885


	2196


	2092



	3546


	5283


	632


	2151


	1340




Answer Key: Word Problems

1. $399

2. Shiza has $223, and Stacy has $2,230.

3. 1, 424 roses

4. The buses can hold 405 people.

5. 498 tomatoes
